P-1

A #il=B
20254 5H 25H (H)
Y BT o
FIEL IR :
HDCP FRR (58): 999.9  HDCP LR (%) 999.9
4 j N\
g fr | =% ¥ K 4 OUT N GROSS| HDCP | NET
& B © & IS 43 48 91 | 26.0| 65.0
YRR © ml R 46 43 89 | 23.0 | 66.0
ML | © TN E= 48 49 97 | 29.0| 68.0
Z2hA HAR 44 47 91 | 22.0| 69.0
R fRET fEME | 49 . 43 . | 92 /2.0 700
613, B Ju 47 43 90 | 20.0 | 70.0
T = B 43 44 87 | 17.0| 70.0
8fir mE & 48 50 98 | 28.0| 70.0
EZIVA ST SEh 45 - 48 93 | 23.0| 70.0
R VA | geowrs ] 46 5. . ] 9 [ 2.0] 7.0/
1147 Hel i & 49 52 101 | 30.0 | 71.0
12{3r EH #EH 43 47 90 | 19.0| 71.0
IRIA s 48 42 90 | 18.0| 72.0
1447 H b R 47 45 92 | 20.0| 72.0
R YA | wA T= | 4 - 46 - | 91 |19.0] 720
1647 DI EETE 44 48 92 | 20.0| 72.0
L7THE AR 46 51 97 | 25.0| 72.0
1841z R 22 44 50 94 | 22.0| 72.0
1941 hE ERL 46 44 90 | 17.0| 73.0
S2002 | ] W ofi | 460 45 01 91 180 730
2147 T M 50 @ 52 102 | 29.0| 73.0
2243 W AR 50 43 93 | 19.0| 74.0
2311 g HE 53 49 102 | 28.0| 74.0
244L. =% ZZfn 43 51 94 | 20.0| 74.0
A | A R 56 ¢+ 46 0 1 101 | 26.0 | 75.0
2617 A BT 49 - 43 92 | 17.0 | 75.0
27hL BB 1EEZ 51 @ 46 ° 97 | 22.0| 75.0
2831 HT —t 54 = 51 105 | 30.0| 75.0
2901 IKEF Rl 45 1 47 92 | 17.0| 75.0
csof | ] (1 e S DY A 54 .« . 101 | 26.0 | 75.0
317 HAT  BA 51 @ 46 97 | 20.0| 77.0
32{1 W At 49 4T 96 | 19.0| 77.0
331 il Eel 54 © 53 107 | 30.0 | 77.0
3447 RE = 52 . 53 105 | 28.0| 77.0
1Y A | al E¥E 53 . 54 . . | 107 |} 30.0 77.0
361 THE &ER 47 51 98 | 21.0| 77.0
37HL (G NS 7 44 = 57 101 | 24.0 | 77.0
38{ir. sy = 44 © 58 102 | 25.0 | 77.0
39L b NS 51 46 97 | 19.0 | 78.0
(_ 4007 A i | 50 | 47 97 | 19.0| 78.0 )

Tk =)L 7 AHEEED



P-2

EESS
20254 5H 25H (H)
B TR BT 4
FIHCHIPR :
HDCP ERR () 999.9  HDCP_LFR (&) : 999.9
4 ; ; N
g fr | =% ¥ K 4 oUT = IN GROSS| HDCP | NET
41417 FGSF 1 49 47 96 | 18.0 | 78.0
42057 R OR= 50 48 | 98 | 20.0 | 78.0
4337 HR ST 49 © 52 101 | 23.0 | 78.0
4447 Kig ek 52 ¢ 51 103 | 24.0 | 79.0
AL A gk ] 50 50 | 100 | 21.0 ) 79.0}
46/{iL. =L R 50 @ 50 100 | 21.0 | 79.0
ATHE KH o 57 1 49 106 | 26.0 | 80.0
481ir m R 50 47 97 | 17.0| 80.0
490 BRI ] 52 1 50 | 102 | 22.0 | 80.0
ShohL | RE Hm&E ] 5L . 49 . .| 100 1 20.0 ) 80.0
51{ A Bs3E 50 50 100 | 20.0 | 80.0
B52fL IR BL— 49 © 49 98 | 18.0 | 80.0
53\, o AR 52 57 109 | 29.0 | 80.0
BANL A —% 52 © 58 110 | 30.0 | 80.0
L frm AR ] 50 0 099 ] 109 1.29.0).8.0
56/\f. R (£ 49 59 108 | 28.0 | 80.0
57THL ml AR 64 = 47 111 | 30.0 | 81.0
58/ PEEF PR—HA) 55 48 103 | 22.0| 81.0
590iL. N R VTN 53 46 99 | 18.0| 81.0
oeopr | KHE ] ol + 60 @ ] 11 130.0) 8.0
610 B R 47 © 56 103 | 22.0 | 81.0
62{\7. fsf ot 58 | 54 112 | 30.0 | 82.0
63117 B 58 54 112 | 30.0| 82.0
64T A Wz 57 © 55 112 | 30.0 | 82.0
65 | wE R ] 50 © 50 | 100 | 18.0 | 82.0}
66/ 'l tE 55 . 57 | 112 | 30.0 | 82.0
67N gy AT 54 © 56 110 | 28.0 | 82.0
6817 i N 53 . 57 . 110 | 28.0 | 82.0
6931 A FERAR 52 56 108 | 26.0 | 82.0
RV [Z2Z = B S 60 53 . 113 130.0) 8.0
T BEH H— 53 1 47 100 | 17.0 | 83.0
720 ATV S 53 1 50 | 103 | 19.0 | 84.0
T30\L. fEm A 53 55 108 | 24.0 | 84.0
TA0L % 15 52 . 56 108 | 24.0 | 84.0
VA K& pes | 48 0 540 102 118.0 | 840
760 fEH  FEZ 50 @ 59 109 | 25.0 | 84.0
TThE B #F—1 52 1 54 106 | 21.0 | 85.0
T8N HA K 50 | 66 116 | 30.0 | 86.0
7901 ey BAT 58 . 50 | 108 | 21.0 | 87.0
80 ¥ & 51 © 53 104 | 17.0 | 87.0 )

Tk =)L 7 AHEEED



P-3

A #il=B

20254 5H 25H (H)

Y BT o

FIHEAHIRR -

HDCP EFR(3) 0 999.9  HDCP FFR (&) : 999.9
4 j j j N\
g fr | =% ¥ K 4 oUT = IN | GROSS| HDCP | NET

8147 PR OB 64 49 | 3 113 | 25.0 | 88.0

8201 Y- 55 . 63 | 118 | 30.0 | 88.0

83\ HAT % 63 @ 51 : 114 | 25.0 | 89.0

8447 KH  BLE 55 © 52 | 107 | 18.0| 89.0

A | ‘A E 56 . 656 . . 112 }22.0 9.0

86/L. mE BT 58 56 114 | 23.0| 91.0

8THL & S 49 68 117 | 26.0 | 91.0

881 i EE 62 55 117 | 25.0| 92.0

89(if. HH SEE 60 © 63 123 | 30.0| 93.0

LV A | | B 56 . 63 . . | 119 | 26.0 930

914 P SEEEIN 62 61 123 | 26.0 | 97.0

92{\L HEA  HIRC 58 . 66 | 124 | 27.0| 97.0

stk eI 59 | 57 : 116 0.0 116.0

3 OME Ki 3 : 1 1 0 | 30.0| 99.9

E R = S S R I 0 130.0} 9.9
L 3 3 3 )

Tk =)L 7 AHEEED



